
VYHODNOCENÍ DYNAMICKÉ PENETRACE

Zakázka: Litovel - kuželna. P�. IGP. Sonda : DP-1

Výška terénu : h. p. v. u. - 2.1 m p. t.
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0-0,1 3 6 7.3 8.1 0.0

0.2 3 13 15.8 8.2 0.0

0.3 3 9 10.9 8.3 0.0

0.4 3 6 7.3 8.4 0.0

0.5 3 6 7.3 8.5 0.0

0.6 3 6 7.3 8.6 0.0

0.7 3 3 3.6 8.7 0.0

0.8 3 3 3.6 8.8 0.0

0.9 3 2 2.4 8.9 0.0

1.0 3 2 2.4 9.0 0.0

1.1 5 2 2.1 9.1 0.0

1.2 5 2 2.1 9.2 0.0

1.3 5 2 2.1 9.3 0.0

1.4 5 2 2.1 9.4 0.0

1.5 5 1 1.0 9.5 0.0

1.6 5 1 1.0 9.6 0.0

1.7 5 1 1.0 9.7 0.0

1.8 5 1 1.0 9.8 0.0

1.9 5 5 5.5 9.9 0.0

2.0 5 5 5.5 10.0 0.0

2.1 50 11 10.4 10.1 0.0

2.2 50 11 10.4 10.2 0.0

2.3 50 13 12.4 10.3 0.0

2.4 50 13 12.4 10.4 0.0

2.5 50 12 11.4 10.5 0.0

2.6 50 9 8.3 10.6 0.0

2.7 50 9 8.3 10.7 0.0

2.8 50 9 8.3 10.8 0.0

2.9 50 12 11.4 10.9 0.0

3.0 50 12 11.4 11.0
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3.0 50 12 11.4 11.0

3.1 45 10 8.8 11.1

3.2 45 7 5.9 11.2

3.3 45 7 5.9 11.3

3.4 45 7 5.9 11.4

3.5 45 7 5.9 11.5

3.6 45 7 5.9 11.6

3.7 45 7 5.9 11.7

3.8 45 1 0.1 11.8

3.9 45 1 0.1 11.9

4.0 45 1 0.1 12.0

4.1 70 2 0.5 12.1

4.2 70 4 2.3 12.2

4.3 70 4 2.3 12.3

4.4 70 4 2.3 12.4

4.5 70 7 5.0 12.5

4.6 70 11 8.6 12.6

4.7 70 11 8.6 12.7

4.8 70 9 6.8 12.8

4.9 70 9 6.8 12.9

5.0 70 9 6.8 13.0

5.1 60 9 6.6 13.1

5.2 60 6 4.0 13.2

5.3 60 6 4.0 13.3

5.4 60 6 4.0 13.4

5.5 60 6 4.0 13.5

5.6 60 6 4.0 13.6

5.7 60 7 4.9 13.7

5.8 60 7 4.9 13.8

5.9 60 7 4.9 13.9

6.0 60 7 4.9 14.0

6.1 0.0 14.1

6.2 0.0 14.2

6.3 0.0 14.3

6.4 0.0 14.4

6.5 0.0 14.5

6.6 0.0 14.6

6.7 0.0 14.7

6.8 0.0 14.8

6.9 0.0 14.9

7.0 0.0 15.0

7.1 0.0 15.1

7.2 0.0 15.2

7.3 0.0 15.3

7.4 0.0 15.4

7.5 0.0 15.5

7.6 0.0 15.6
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7.6 0.0 15.6

7.7 0.0 15.7

7.8 0.0 15.8

7.9 0.0 15.9

8.0 0.0 16.0 12
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